New Maths GCSE: G20 - Pythagoras Calculations

Correct Answer: ABCD

5 Explanation:

7

Which of these would correctly work out | i
the missing length?

p=7+6 B »-7+¢

p=v7-e B p-vETE

Correct Answer: ABCD

; 12 Explanation:
q llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
Which of these would correctly WOrk OUL | Liiiii vt r e e resen s sa e s sa e s snsansnsnsansnsnsanen
the missing length?
B -/7-12z B q¢=122-72

g=v1z2-72 B q=V127+72

Correct Answer: ABCD

. Explanation:

f --------------------------------------------------------------------------
Which of these is the correct relationship | ceviiii e et e e s e s e re s e ra e e ranen
between the sides
n d=/ez_f2 H d=82+fz

d=e+f B =412
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Correct Answer: ABCD

Explanation:

Which of these would correctly work out

PUMMEERNTMURIIMREE | oo
r=y1z2-72 B r=y117+ 72

r=112+72 [l r=11+7

Correct Answer: ABCD

Explanation:

w
-
~

Which of these would correctly work out

the missinglengthe = | mmmmmmmmmmmmm—m——m—
B :-/7—3 B :=y7+3

t=72-32 B ¢=/32-72

Correct Answer: ABCD

Explanation:

Which of these is the correct relationship | ceieoi et e et e rn s e s e re s s s a e e snnen
between the sides

periog B p=qier

rr=g¢-r B »=r-¢

Correct Answer: ABCD

Explanation:

Which of these would correctly work out

the missing length?
v =92 —gz2 B v2=9+8

v=92+82 [ v=92+82
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Which of these would correctly work out
the missing length?

w=62—32 B v-/33-¢
w =62 — 32 w =62 +32

w

Which of these is the correct relationship
between the sides

w=vu+v B w=+Juz —p?
wi=u+v w = yu? +v?

w

Which of these is the correct relationship
between the sides

L L v=yw2—-u?
vi=w-u v =+u?—w?

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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